MATH

Money - Word Problems

Frank has $15.00. He wants to buy a movie ticket worth
$5.75, and also wants to get a drink for $4.45. Does he
have enough money to buy a popcorn for $4.25?

Robert got $25.00 for his birthday, this year. He also
withdrew $50.50 from the bank. If he wants to buy a
pair of shoes for $65.00, does he have enough money?
Show your work.,

A 3 scoop ice-cream costs $4.80. A single scoop of
another ice-cream costs $2. Which is cheaper between
the 3 scoop ice-cream and 3 scoops of the single scoop
ice-cream, and by how much?

Sandy purchased a Spiderman toy for $4.15, and a
football game for $8.85 with a $20 bill. How much
change will he get?




MATH

Money - Word Problems

Answers

Frank has $15.00. He wants to buy a movie ticket worth
$5.75, and also wants to get a drink for $4.45. Does he
have enough money to buy a popcorn for $4.25?

Yes

Robert got $25.00 for his birthday, this year. He also
withdrew $50.50 from the bank. If he wants to buy a
pair of shoes for $65.00, does he have enough money?
Show your work.,

Yes

A 3 scoop ice-cream costs $4.80. A single scoop of

another ice-cream costs $2. Which is cheaper between
the 3 scoop ice-cream and 3 scoops of the single scoop
ice-cream, and by how much?

The 3 scoop ice-cream is cheaper by $1.20

Sandy purchased a Spiderman toy for $4.15, and a
football game for $8.85 with a $20 bill. How much
change will he get?

$7.00




